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0 vs 100 mbar (20 mm straw)
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0 vs 100 mbar (10 mm straw)
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0 vs 100 mbar (10 mm straw)
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0 vs 100 mbar (5 mm straw) 7
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0 vs 100 mbar (5 mm straw)
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Run 72: 5mm straw (N224)
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Run 72: 5mm straw (N°24): CB vs Gauss 11

o7 = f(U) o, = f(o7)
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1. The weighted mean of Coordinate resolution distribution is 136 pm!
2. The best time ‘resolution’ is about 2 ns!



Run 72: 10mm straw (N212)
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Run 72: 10mm straw (N212): CB vs Gauss 13
o, = f(o7)
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1. The weighted mean of Coordinate resolution distribution is 150 pm!

2. The best time ‘resolution’ is about 4 ns!
3. Algorithm should be tuned



